HEZLE 2 IR l’aIJ AR R A The Statistics on Stowaway of Illegal Entry/Exit Seized—by Nationality and Sex

i+ 4Ax Unit : Person-Case
i i AR A #k
Stowaways
@2t ZhE o R R
Total Red-Handed Offenders of Illegal Entry
&3 * B 45 * Bk B4 &3 * 45 ST
Total Native Nationality Chinese Nationality Foreign Nationality Total Native Nationality Chinese Nationality
= 2 A o3t 24 A 2k g L s g L 3t g L )2k g R )2k g L
Total Male Female Subtotal Male Female Total Male Female Subtotal Male Female Total Male Female Subtotal Male Female Subtotal Male Female
106 2017 149 87 62 4 4 - 8 4 4 137 79 58 100 58 42 4 4 - 7 3 4
107# 2018 115 70 45 14 14 - 6 3 3 95 53 42 66 38 28 11 11 - 4 3 1
108# 2019 132 97 35 13 12 1 5 4 1 114 81 33 51 37 14 10 9 1 3 3 -
109 2020 158 110 48 1 1 - 5 4 1 152 105 47 103 73 30 1 1 - 4 4 -
110& 2021 69 48 21 - - - 14 13 1 55 35 20 44 31 13 - - - 11 11 -
111# 2022 51 33 18 2 1 1 5 5 - 44 27 17 5 5 - - - - 5 5 -
112# 2023 110 77 33 2 2 - 15 14 1 93 61 32 62 47 15 1 1 - 14 13 1
113& 2024 58 48 10 20 18 2 7 7 - 31 23 8 22 20 2 - - - 7 7 -
6% June 2 1 1 - - - 1 1 - 1 - 1 1 1 - - - - 1 1 -
77 July - - - - - - - - - - - - - - - - - - - - -
87 Aug. 23 21 2 20 18 2 1 1 - 2 2 - 1 1 - - - - 1 1 -
9%  Sept. 2 2 - - - - 2 2 - - - - 2 2 - - - - 2 2 -
10%" Oct. 4 3 1 - - - 1 1 - 3 2 1 1 1 - - - - 1 1 -
11%  Nov. 3 2 1 - - - - - - 3 2 1 - - - - - - - - -
12%  Dec. - - - - - - - - - - - - - - - - - - - - -
114# 2025 52 44 8 9 9 - 11 10 1 32 25 7 33 28 5 - - - 9 8 1
17  Jan. 3 2 1 - - - 1 1 - 2 1 1 1 1 - - - - 1 1 -
2" Feb. - - - - - - - - - - - - - - - - - - - - -
3% Mar. 12 12 - 9 9 - 1 1 - 2 2 - - - - - - - - - -
4%  Apr. 28 24 4 - - - 2 2 - 26 22 4 26 22 4 - - - 2 2 -
57  May ® 5 5 - - - - 5 5 - - - - 5 5 - - - - 5 5 -
62 June ® 4 1 3 - - - 2 1 1 2 - 2 1 - 1 - - - 1 - 1
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Compared with the Same 100.0 - 200.0 - - - 100.0 - - 100.0 - 100.0 - -100.0 - - - - - -100.0 -
Month of Last Year(94)
ME R E R
Compared with the Same 100.0 120.0 33.3 - - - 266.7 233.3 - 39.1 47.1 16.7 83.3 75.0 150.0 - - - 200.0 166.7 -
Period of Last Year(%5)




